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NIVNID MYNNNRI MNNN MNXIAN NIIPYIN NNX DI DY NININ NN 12WN

.te[0,27]- r>0 IWND y(t)=(rcost,rsint) .N
.te(0,27)-) a>0 TwNd y(t)=(a(t-sint),a(l-cost)) .2

’ te[12] AUNO y(t)z(tz,tS) 5
.te[0,27]-) k>0 WX y(t)=(e" cost,e“sint) .7
:2 909N

:MINAN MNIPYY NPYIL NINDIVNID INSND

7 (t)=(1+2cost,—3+2sint) N

r>0 WK y(t)=(rcost,rsint) .2
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: MININ MMIPYN OV NPMINPYN NN IIVN

7(t)=(1+2cost,—3+2sint) N
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x3 — y% = 0:mP 3N NN )
r>0 9wND y(t)=(rcost,rsint) .7

te[L2] qwNo p(t)=(t"t°)
te[0,27]-) k>0 IWND y(t)=(e" cost,e"sint) .3

T'02



